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I. 

 8 × 1 = 8 

1. p ( x ) = 2x  – 4 ( x – 2 )

 

 (A) 2 (B) – 2 

 (C) 0 (D) – 8 

2. 2x  + 2x + 1 = 0  

 (A) 2   – 1 

 (B) – 2    1 

 (C) – 2    – 1 

 (D) 1  2 

3. 

 

 (A) 90º 

 (B) 180º 

 (C) 45º 

 (D) 360º 
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4. 154 10 

 

 (A) 15·40  

 (B) 15400  

 (C) 1·540  

 (D) 1540  

5. tan θ = 
3

1
  cos θ = 

2

3
 sin θ  

 (A) 3  

 (B) 
2

1
 

 (C) 
3

2
 

 (D) 
2

3
 

6. ( 7 × 11 × 13 + 13 )  

 (A)  

 (B)  

 (C)  

 (D)  
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7. a r 
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8.  

    

 (A) hrr )(
12
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 (B) hrr )(
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 (C) lrr )(
21
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81-K 2 CCE  RR 
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I. 

 8 × 1 = 8 

1. U = { 1,  2,  3,  4,  5,  6,  7,  8 },  A = { 1,  2,  3 }    B = { 2,  3,  4,  5 } 

 ( A   B )
|

  

(A) { 5,  6,  7 } 

(B) { 6,  7,  8 } 

(C) { 3,  4,  5 } 

(D) { 1,  2,  3 }  

2. 18 45  

(A) 9 

(B) 45 

(C) 90 

(D) 81 
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3. )( X  (  ) 60 

3  

(A) 5 

(B) 6 

(C) 7 

(D) 8 

4. yx     

(A) x – y  

(B) x  

(C) yx 
 

(D) yx   

5. f ( x )  =  2x  – 2x + 15 f ( – 1 )  

(A) 14 

(B) 18 

(C) 15 

(D) 13 
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6.  

(A)  

(B)  

(C)  

(D)  

7. 12  

(A) 25  

(B) 144  

(C) 24  

(D) 212   

8.  ( – 12,  5 )  

(A) 13  

(B) – 12  

(C) 10  

(D) 5   
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